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COMPUTER HARDWARE SSC-lI
SECTION — A (Marks 08)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(» sectors are present on the 1.44 MB floppy.
A 2857 B. 2847
C. 2867 b. 2877
(i) The group of sectors are known as:
A Cluster B. Boot Sector
C. Boot Record b. Track
(iii) In DOS (Disk Operating System), the size of pregram memory is limited to:
A 768 KB B. 640 KB
C. 1024 KB D. 2028 KB
(iv) is responsible for the File Management in computer.
A Operating System B. Processor
C. Memory D. None of these
(v) Data transfer speed depends upon the of bus.
A. Length B. Height
C. Width D. None of these
(vi) Main advantage of networking is to resources.
A Allocate B. Manage
C. Share D. None of these
(vii) Numeric Processor Unit is also known as;
A Math Co-processor B. Micro Processor
C. Number Processor D. None of these

{(vii)  The speed of first processor introduced in IBM machines is:
A 4.77 MHZ B. 6.77 MHZ
C. 8.77 MHZ D. 16.7 MHZ
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COMPUTER HARDWARE SSC-l

Time allowed: 2:40 Hours Total Marks Sections B and C: 32

NOTE: Answer any six parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Note:
Q.3
Q.4

SECTION — B (Marks 18}
Attempt any SIX parts. The answer to each part should not exceed 3to 4 lines. {6 x3=18)

i) Differentiate between Seek Time and Access Time in Hard disk.
ii) Wirite a short note on Register.

i) Write a short note on Bus Based Computers.

v) What do you mean by Modem Card?
vi) Differentiate between Multithreading and Branch Prediction.

(
(
(
(iv) Define networking. Name different methods of networking.
(
(
(vii) What do you mean by Clock speed?

(

viii) Write a short note on Pentium 6.

SECTION — C {Marks 14)

Attempt any TWO questions. All questions carry equal marks. (2x7=14)
Explain in detail the RAM and ROM alongwith their types. (07)
What do you mean by DOS (Disk Operating System)? Write advantages and disadvantages
of DOS in detail. {07)
What do you mean by Bus? Explain in detail the different types of buses. (07)
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